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BRI b—F A MR

A BH- KB NEME | BXREAR | WE-EN | BB | IE
BH K& 5-6 6-5 6-1 2-1 1
JSTIRRIAY S 6-5 5-6 6-4 2-1 3
BER-EK 5-6 6-5 6-4 2-1 2
(LR - 7)1 1-6 4-6 4-6 -3 | 4
B FHE-LURe| ISA-RMA | AE-EA | B | IR C BER-=F (HP=-kKE| BHR-FK | BR | IR
AH-1LRe 6-1 6-0 2-0 1 BER-=HE 6-3 6-2 2-0 1
W& - 8 1-6 6-5 1-1 2 Hrh=-kKE 3-6 1-6 0-2 3
FH-EA 0-6 5-6 0-2 3 BH-FAXR 2-6 6-1 1-1 2
D Rex-5H| LER-FR | KT-KH | B | IR
RBx-5EH 6-3 6-0 3-0 1
1T}z 2 3 3-6 6-0 1-2 2
XTF-KH 0-6 0-6 0-3 3
E B8 -F% | WWRx-/MU| 22-E4 | Modh-FEE | B | IBLL
28 - EE 6-3 6-0 6-1 3-0 1
ARz - 2N 3-6 6-0 6-4 2-1 2
B2%-k# 0-6 0-6 1-6 0-3 | 4
hodK- B mE 1-6 6-4 6-1 1-2 3
F FH-Z2 | ATE-FE | F0E | B | AR G MW-R | TRFRK | RER-BE | B | IBk
HwW-=E 6-2 6-2 20 1 mR-R 6-0 6-5 2-0 1
AIE-FE 2-6 4-6 0-2 3 THR-FR 0-6 1-6 0-1 3
F-IME 2-6 6-4 1-1 2 AR 5-6 6-1 1-1 2
H AP E | KH-ILRe| TE-FHE | B | IREGL
FH-PE 6-4 6-4 - 3
AH- LR 4-6 0-6 2
&8 - FR 4-6 6-0 1
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